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[ENGLISH (COMPULSORY)J

Neither vy
you, nor 1, nor anyone clse

the answor.

(A)  know
(B) knows
(C©)  have known

(D)

knowing

If he had asked me, him.

(A) I would help
(B) 1shall have helped
(C) 1 would have helped
(D) Iwill help

Which of the following imperative sentences
expresses ‘advice’ ?

(A)
(B)
©
(D)

Please have another cup of tea.
March on, soldiers.
Have a smooth journey.

Respect your elders.

Which letter is silent in the word “solemn’ ?

25.

26.

27.

We shall have to call the party ———
if it rains.

(A) on
(B) out
(C) off
(D) wup

Which of the following is a grammatically
acceptable sentence ?

Sreyan scored a goal in the last minute
who was fortunate

(A)

Sreyan who scored a goal in the last
minute was fortunate

(B)

(C) Sreyan, who scored a goal in the last

minute, was fortunate
(D) Sreyan, that scored a goal in the last
minute was fortunate

Our Headmaster taught us grammar. Which
of the following sentences is the correct
passive voice of the above sentence ?

(A)

We are taught grammar b
Headmaster. yoour

24. (B) We were taught grammar by ou
] Headmaster. !
- (€) Grammar is taught
(B) IHeadmaster. B U by our
© s

(D) We were being taught
D) 1 Headmaster. s grammarby ouy
= ——
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28. T -
t ;1: teacl,i’er said, “The earth moves round
- sun.” Pick out the sentence which
: 1.'ectly changes the above sentence into
indirect speech.
(A) The teacher told that the earth moves
round the sun.
(B) The teacher said that the carth had
moved the sun.
(C) The teacher told that the earth moved
round the sun.
(D) The teacher said that the earth moves
round the sun.
29. How often to the theatre when

you were in France ?
(A) did you go

(B) were you going
(C) have you been
(D) doyougo

30. Which of the following is a meaningful
word ?

(A) Thurricane
(B) herricane
(C) Thurrecane

(D) herrecane

Read the passage given below and answer the
questions that follow choosing the correct
alternatives given.

The white tiger is one of the rarest wild
animals not only in India but perhaps in the world.
In fact, all the white tigers found in India and
abroad are the descendants of a nine-month-old
white cub that was captured in 1951 in the forest
of Rewa in Madhya Pradesh. At present there
are about 38 white tigers in the world, out of
which 24 are in India.

SET -@

sa magnificent animal. [

The white tiger 1
th brown or ash

_ white coat wi
coloured stripes and is larger than @ normal tiger,
About 70 years ago it was reported that there were
light coloured tigers in the forests of Assan, Bengal

and Bihar, but they were not truly white tigers,

The forests of Rewa are the only region where real

white tigers are found.

has a snow

Questions :

31. What kind of stripes do the white tigers
have ?

(A) white - coloured
(B)  brown - coloured
(C) red - coloured
(D) purple - coloured

32. Inwhich state was the nine-month-old white
cub found ?

(A) Bihar
(B) West Bengal
(C) Assam

(D) Madhya Pradesh

33. How does the writer describe the white
tiger ?

(A) as harmful
(B) as ferocious

(C) as magnificent

(D) aslovable

OSSTET/P-I
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34.

35.

What is the ant
a
antonym of the word ‘normal” ?

(A)  unnormal
(B) abnormal
(©) innormal

(D) usual

Tl‘ ) vt 1 .- o
¢ white tiger is regarded as one of the
wild animals in India.

(A)  most unusual
(B) fiercest

(€)  most common
(D)  most familiar

Read the poem given below and answer the
questions that follow choosing the correct
alternatives.

Loveliest of trees, the cherry now
Is hung with bloom along the bough,
And stands about the woodland ride

Wearing white for Eastertide.

Now of my threescore years and ten,
Twenty will not come again,
And take from seventy springs a score,

It only leaves fifty more.

And since to look at things in bloom
Fifty springs are little room,
About the woodlands I will go

To see the cherry hung with snow.

Questions :

SET -—@

woodlands ?

39. The first stanza describes the
the cherry tree.

(A) leaves
(B) roots

(C) fruits

(D) blossoms

40.

are little room” means

(A) in the garden

(B) about the woodland path
(C) on the premises of a church
(D) on the bank of a river

. e
37. Why does the poet wish to go about th

with snow

(A) tosee the cherry tree laden
. - e
(B) tosee the cherry tree hung with whit
flowers
(C) tocollect the blossoms from the cherry
tree
(D) to sce the snow on the cherry flowers

38. Where does the cherry tree stand ?

of

The word ‘room’ in the line “Fifty springs

36 o e i n loom? (6 s e ok oy el
(A) twenty (B) space that is enough for an occasion
(B) threescore and ten (€} wpaceiof Hins
©
(D) face
OSSTET JOB ALER B
T Murn over)
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56.

Two-thirds of the population of this district

SET \Q

ing sentences is cory
which of the following ety
have never seen him,
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(A) are (B) I, ho ver, have never seen him,
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] low and answ
(D) has Read the passage ghver b;oosing the csr "
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57. i}:th?olllghi the Car with __ he had a Farly rising leads to health and happiness,
1S bank account. . .
(A)  whicl The man who rises late can have little rest in th
£ 7 3 . . .
B ¢ course of the day. Anyone who lies in bed late s
(B) that compelled to work till a late hour in the evening
(€) what He has to go without evening exercise which is 5o
(D)  where necessary for his health. In spite of his efforts his
work will not produce as good results as that of
S5 ‘e should heves look dews the early riser. The reason for this is that he cannot
anyone. take advantage of the refreshing hours of the
(A) after morning. Some people say that the quiet hour of
(B) on the midnight is the best time for working. Several
(C) at ir;:t ttl;mk;rs say that they can write best only
'hen s 3 . L
(D) in that f‘ €y burn midnight oil. Yet it is true to say
ew .
s W men have a clear brain at midnight when
tehody needs rest and sleep. Those who work
i ing i at that time s : o
59. Zg:t:ecrieo?f the following is a complex e i 00N ruin thejr health. Bad health
| u 1" © long run, have a bad effect on the
(A) The teacher arrived school late today quality of their wopk
and took rest in the common room Qllestions .
(B) The teacher arrived school late today 61 -
but taught us English ’ ' Z"h’ch of the followj ding
. etween the 1 INg means readin
(C) The teacher who is very punctua] expresqedl?e lines ang reacting to the ides
arrived school late today (A) lite 11n the text ?
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set -(C)

62. Making inferences comes under 65. What does the phrase ‘in the long run’
skill. T mean ?
(A) listening (A) very soon
(B) reading (B) ultimately
(C)  speaking (C) surely
(D)  writing (D) slowly

. 1s e
63. A test which gives a general picture of a 66. What happens to the man whioj pizesr Atk
student’s knowledge and ability is called a

fest (A) . He can have some rest in the course of
the day.

(A) achievement

(B) He can have a little rest in the course

(B) diagnostic | of the day.
(C) piecemeal (@) }ﬂ{:; (;;r; .have no rest in the course of

(D) proficiency (D) He can have some rest in the night.

64. The grammar which offers a systematic .
claqsﬁicaﬁon of all the language forms is 67. Whatdo sevefal great thinkers say about the
km;wn as Grammar. people who sit up and work late at night ?

A) Ti /T <
(A) Informal (A) They write best

(B) Formal (B) They have a clear brain at midnight

(C) Both (A) and (B) (C) They have a good sleep

(D) None of these (D) They enjoy good health

—_—
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Read the poem given below and answer the
questions that follow choosing the correct

alternativesg given.
Our world is always changing,
Constanﬂ_\' rearranging,.
From ocean depths to mountain peaks,
Mother Nature moves and speaks.
While telling stories of our past,
She tries to teach us how to last.
Mankind, so smart, sometimes blind
Leaves common sense far behind.
We're moving fast and living large,
Forgetting Mother Nature’s in charge.
Amazed when she rings our bell,
Sending us through living hell.

She can twist our steel, shake any city.

If her wrath you feel, we shall pity.

OSSTET/P-1,

69.

jons *

Questlo
rding t0 the poet, should we by

How, acco

Nature ?

(A) with disrespect

(B) with distinction

(C) with arrogance

(D) carelessly

What does Mother Nature try to teach when
she tells us stories of our past ?

(A)
(B)
©)

(D)

common sense
to continue to exist for a long time
to come in last

how to rearrange ourselves

Yet some who speak on her behalf, 70.  “If her wrath yoy fee]’ _ here “wrath’ means
. MHEI
I fear just seek the golden calf.
(A) Pleasyre
It's true, we must treat her right.
B
Or we will incur a deadly plight ®) tolerance
Treat her with distinction, (€ anger
Or surely face extinction ! (D) sy ering
[12] -
ontinued)
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SET -( C)

B -SECTION - 111

"ARTS GROUP

HISTORY & POLITICAL SCIENCE |

71.  Who has complimented Samudrag Rt : 4 xs ‘ 1ag US
the ‘Indian Napoleon’ ? ragupla as 75.  ‘The Allahabad Pillar Inscription prnvulcs us
’ ‘ usclul information about :
(A)  Radhakumud NMukharji A S It
(B)  V.A. Smith (A)  Samudragupta
(©) R.N. Dandek (B)  Chandragupta-I
. . ANde ar
(D) R.C. Majumdar (C) Skandagupta
(D) Chandragupta-Ii
72. Th‘u work Devichandraguptam is related
b 76. Who conferred the title of ‘Gakala-Ottara-
(A) Samudragupta Pathanatha” on Harshavardhana ?
(B) Chandragupta-II (A) Sasanka
(C) Skandagupta (B) Devagupta
(D) Ramagupta ©) Prabhakaravardhana
(D) Pulakesin-II
73.  Which of the following inscriptions gives us
information about the conquest of Valabhi )
by Harshavardhana ? 77. The reign of the Gupta rulers is ‘knowr\ as
) . the ‘Golden Age of India’. Which of the
(A) Aihole Inscription following is true in this regard ?
(B) Junagarh Rock Inscription (A) There was peace an d prosperity
(C) Damadarpur Copper\{Jf} (B) There was religious toleration
(D) Nausasi Copper i (C) There was tremendous advancement
in the field of Science
74. Which of the following is a false statement (D) All of the above
with regard to art and architecture during
the Mauryan period ?
(A) Mauryan Art was influenced by 78. Asoka send Mahendra and Sanghamitra to
Persiaﬁ and Greek Art. conduct missionary activities for propagation
. d of Buddhism in :
(B) The most striking feature with regar
to the pillars was it's lustrous polish. (A) Java
(C) It was influenced by Buddhism to a (B) Malaya
great extent. ( Q) Ceylon
Art was
D) On the whole Mauryan '
(D) primitive in nature. (D) Brahmadesha
[13] “ (Turn ove
e = > A e i
—=3 Q% ( i ~
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| SET -@

following 8iVes the
Which of thzivisions of the empire iy

7. Whom Maharaja Kharavela has defeated in | 83 administrative 3
his twelveth regnal year ? correct descending order
(A) Satakarni _ as, Villages
(B) (A) Provinces, Shigs, Praganas, &
Brihaspati Mitra ‘
: illages
(C) Demitrius (B) Praganas, Shigs, Villag
(D) Mahapadmananda (C) Shigs, Praganas, Qasbahs
i Villages
Praganas, Shiqs and g
80. Which of the following region was not (D) Iqtas, Prag
included in Asoka’s kingdom ?
(A) Modern Afghanistan
1 is fals 7
(B) Modern Pakistan 84. Which of the following statement is false
(C) Tanjore (A) A romance in stone” - Jama Masjid
(D) Mysore ¥
(B) “A frozen tear drop” - Taj Mahal
81. The first Indian scholar who treated (@) I'fﬂon earth be an Edgn of bliss, It is
Mathematics as a distinct subject was : this” - Dewani-i-Khas in Agra
(A) Vijayanandul (D) A poem written by Abul Fazal,
(B) Aryabhatta Inscribed on - Tomb of Salim Chisti.
(C) Varahamihira
ta
(D) Erahmagup 85. ‘Pietra Dura’ Means -
82. “If there were similar portraits finished by (A)  Indo-Islamic Architecture
several Artists, I could point out the painter
of each”- who said this ? (B) Elonstruction of buildings with glazed
es
(A) Akbar
(B) Shershah (C) Decorating walls with miniature
paintings
(C) Jahangir
) (D) -Decorating walls with floral designs
{P); Shahjalian made of Semiprecious stones
r
OSSTET/P — nued)
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B - SECTION - III

w seT -(C)

ARTS GROUP

GEOGRAPHY AND ECONOMICS |

6. Whatis the a i
B PProximate depth of Mantle ? 90. Which of the following should a goxrerllx}len;
(A) 2500 km generally takes in order to reduce inflation
(B) 2900 km (A) Cuts in government spending
(C) 3200 k (B) Increase in government expenditure
m
(C) Reduction in repo rate
D) 3600 km
N (D) None of the above
87. The Coriolis force is strongest at : 91. Which of the following types of
unemployment arises where more people
CONE i have employed inactivity than needed ?
(B) Tropic of Cancer (A) - Cyclical unemployment
(C) Poles (B)  Seasonal unemployment
(D) Tropic of Capricorn (C) Disguised unemployment
D) Chronic unemployment
Ploy
88. Which landform is produced by wind . _
erosion ? 92. In which of the year National population
policy in India was formulated ?
(A) Cirque (A) 1955
(B) Stack (B) 1988
(C) Zeugen (C) 1972
(D) Both Zeugen and Stack (D) 2000
) 3 . 93. Which of the following states of Indj
89, }'V(I:'lmo c})evelopcd Physical Quality of Life e grediest pofmifial or 1 Feners éznhz;;
ndex ? tidal power ?
(A) Amartya Sen (A) Malabar coast
(B) Morris Davis (B) Coromandol coast
© Mahbub-ul-Haq (C) Konkan coast
(D) Gujarat coast
(D) Jean Dreze
Dl X
OSSTET /P-1
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94. Whj
ab;;cth ]0f the following statements is true 98.
the central bank ?
(4) _It regulates the entire banking system
in the country
(B) Itis under the ownership of the cenlral
sovernment of g country
(©) Itis the apex bank of a country
(D)  All of the above
95. Which of the following i ;
{ tl gest
Bl in Bl g 1s the largest coal
(A) Raniganj
e 99,
(B) Bokaro
(C) Jharia
(D) Giridih
96. Which of the following atmospheric events
causes maximum rainfall in north-western
part of India during winter season ?
(A) Tropical cyclones
(B) Tropical anticyclone
(C) Monsoon
(D) Western disturbances 100.
97. Map showing areal distribution by symbols,
Index and letters is known as :
(A) Choropleth map
(B) Chorochromatic map
(@) Choroschematic map
(D) Isopleth
[16]
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s is the old
following 15 g
thhofﬂimhfmma?

mountain sy$

(A) Himalayas
(B) Satapura
©) Aravali
(D) Nilgiri

What is the average salinity in the oceans
and the seas ?

(A) 45%
(B) 35%
C) 25%
(D) 40%

Diagonal scales are generally used for which
of the following type of maps ?

(A) Cadastral maps
(B)  Wall maps

(©) Small scale maps

(D)  Medium scale mapg

(Continued)
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CHILD DEVEL

MENT, PED
or BV

SET -@

AGOGY,
ALUATION

; &
NAGEMENT .
: SCHOO M — ] 04. National Staff College for Education,)
101. A percentage based method for awarding . Planners and Adminisl?'ators Sta'rted in 1973
grading is known as : by Govt. of India is rechristened g
in 1979.
(A) Absolute grading
s (A) NCERT
(B) Relative grading (B) NCTE
(C) Both (A) and (B) ©) CABE
(D)  Neither (A) nor (B) (D) NIEPA
105. TLM should be used by teacher as it :
102. What was Alfred Binet's Theory ? (A) isnotvery expensive
(A) Intelligence can be defined by the (B)~ motivates l.e a;rnetriézéurﬂ’ter prepare
comparison of the performance of pUCLL ImErIle
children at the same idea. (C) supplements teaching learning process
(B) Gifted children should be identified (P)s preparesstudentsimentallyifotnithe
early and have access to specially {0
trained teachers.
(C) People are not born with all of the | 106- Whic}} of the following types of learning
intelligence they will ever have. materials are in the form of real objects or
ideals that make the concepts very clear ?
(D) The dlffefentiatio‘n' of h.lfman (A) Visual material
intelligence into specific modalities of : :
intelligence, rather than defining (B)  Surrounding environment
intelligence as a single, general ability. (€ - IcT
(D) Tactile material
103. In which of the following test, the word )
“Premises” is associated with : 107. Basic managerial functions of Human
(A) Multiple choi Resource Management are :
ultiple choice questions :
A (4) Planning, organising, staffing
(B) Alternate response questions () Planning, organising and
- Co—ordinating
Matching form questions :
_ © Plam‘m_g' organising, directing and
(D) Simple completion type question controlling
(D) None of these
OSSTET /=2 =
tinued)
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108. A more positive attitude of parents towards

109.

110.

111,

school can be derived from enriched

(A) Economic background
(B) Cultural heritage
©) Customs and traditions

(D) School-community partnership

Who said that intelligence in general was the
power of good responses from the point of
view of truth or fact ?

(A) Thorndike
(B) Termon
(C) Peterson

(D) Buckingham

According to whom each reinforcement
builds up a reserve of responses ?

(A) Hul

(B) Gestalt
(C) Tolman
(D) Skinner

Scales having equal differences between
successive categories refer to :

(A) * Ordinal scale
(B) Nominal scale

(C) Ratio scale

(D) Interval scale

112.

113,

114.

seT -( C]

Whi -
! hich of the following statement is incorrect
as refers to portfolio ?

(A)  Students get opportunity to exhibit

their own talent
(B) It makes learners more self reflective

(©) BOlh teacher and student collaborate
in evaluating on student progress

(D) It is a tool that clearly indicates
marking criteria

Audio-visual aids make learning :
(A) easy

(B) interesting

(C) effective

(D) all of these

A systematic process of determining to what
extent instructional objectives are achieved

by pupils is called :
(A) Measurement
(B) Assessment
(©) Evaluation

(D) Examination’

—

(Turn over)
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115. means something that can be
used to help achieve an aim.

(A) Replacement

(B) Resource

(©)  Source

(D) Foundation

116. Educational management has been defined
by G. Terry Page and J.B. Thomas as

(A) a method of operation and good
management should result in an
orderly integration of education and
society.

(B) a body of educational doctrines,
comprises a number of principles.

(C) theory and practice of the organization
and administration of existing
educational establishments and
systems.

(D) the force that integrates men and
physical plant into an effective
operating unit.

117. At which age a child can understand
similarity and distinction between words ?

(A) Attheageof5to 6 yrs.

(B) At the age of 1to 3 yrs.

(C) During adolescence |

(D) At the age of 9 to 10 yrs.

OSSTET/P-1

SET ~®

ding to Kurt Lewin’s which theop,

i ; N )
118. Acco cents experience a rapidly Wideniy,

adoles
life space along

time dimension
(A) Field Theory
(B) Focal Theory
(C) Grand Theory
(D) Psychoanalytic Theory

3

geographic, social and future
s?

Formulating general principles based op

19. .
1 knowledge of examples and details is known

as :

(A) Coding system
(B) Intuitive thinking
(C) - Eg-Rule method

(D) Inductive reasoning

120. Pavlov’s experiments with whom led to the
discovery of a new principle which
revolutionized thinking in social

sciences ?
(A) Cat
(B) Rat
(©) Dog

(D) Chimpanzee

121. The process by which an organism acquires
a new mode of behaviour, which tends 0
persist and affect the general behaviou!

known as

(A) Emotion
(B) Learning
(©) Motivation
(D) Teaching

— ) e

[72] ol od)
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122.

TLM should be used to

(A) Make teaching more useful
(B)  Make teaching impressive

(C) Provide concrete examples
(D) Facilitate learing,

3. Constructivist approach suggested that

s crucial for constructing
knowledge.

(A)  prior knowledge of the learner
(B) conditioning

(€)  punishment

(D) rote memorisation

126.

127.

SeT -(C)

Whic

C o ' |

(‘lnmh( of the following is an important
= - istic . o

q(‘hn(i enstic commonly found in effective
Moot administrators at the primary level ?

(A) Mdssh'ry over subject knowledge
(B) ].f‘mlf‘r‘;hip and management
(C)  Effective communication

(D) Interpersonal relationship

According 1o Chomsky, humans have a
— to develop language.

(A)
(B)
©
(D) biological predisposition

perceptual set
telegraphic readiness

learning set

124. Which theorv of motivation holds that the 128. According tf) BF Skinner language
secrets of mind are locked within the cells of development in children takes place as an
the nervous system ? outcome of
(A) Pawn theory (A) inborn capacity

B) training in grammar
(B) Stimulation theory (B) g In gr
(C) Depth th (C) imitation and re-inforcement
) epth theory
(D) maturity
(D) Psychological theory
129. In a learner centric approach a teacher

125. Constructivism is a learning theory based should
on : (A) clarify concepts by citing examples
. D@V(‘l()pmema] Psychology (B) facilitate student learning
(B) Evolutionary Psychology () explain CO"COPtS by using adequate
© C itive | support materials

) ognitive Psychology o
(D) demonstrate inside the classroom
e (D) Occupational Psychology
OSSTET/P-1 (73] (Turn over)
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133. Which of the following is a characteristj. of

13‘0. Who was the first to use multiple choice writical Pedagogy ?

items for assessment in 1915 ?

(A) ].Pi (A) Language and Power
- laget

& (B) Democracy and Social justice

(B)  Vygotsky

- (C) The neutrality of knowledge

(C) Skinner
(D) All of these

(D) EJ. Kelly

A progressive teaching philosophy that

134. :
131. Thorndike’s which law of learning is based challenges students tof fexanu?e PQWgr
on the laws of use and disuse ? structures and patterns of inequality within
the status quo was put forwardeq
(A) Law of readiness _ by

(B) Law of effect (A) Socrates

(C) Law of exercise . (B) - Paulo Freire
(D) None of these (C) Swami Vivekananda
(D) Rabindranath Tagore

132. From the following list of methods of
teaching identify those which are learner | 135. Who proposed that all children have
centered. language acquisition device ?

(i)  Project work (A) Piaget

(i) Chalk and talk (B)  Chomsky

(iii) Lecturing with audio-visual (C) Vygotsky

D) Dan Slobi
(iv) Computer aided instruction (D) an Slobin

(v) Simulation and réle-playing

136. Creative learning is based on ________

(A) (i), (iii) and (iv)
(A) Transfer of Principles & skills

(B) (iv) and (v) :
(B) Discover Principles & concepts

C) (i), (ii) and (iii s
(© ) () (i) (C)  Memorizing facts & principles

_ (D) (i), (iv)and (v) (D) Mechanical reproduction
S

tinued)
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137. Which of the following is

a tool used for

SET -( C]

e ek el & X 140. T, .
individual test of mtelligence ? in:t-l:l;l.dhly ol a test that measures, what it
us 1o measure iy  of a test.
(A) Raven’s progressive matrises (A) teliability
(B) Stanford-Binel fest (M) validity
C 10CH Vs
(€©) Jalota’s scale of intellegence © abjec VAL
(D) usability
(D) None of these
141.'ﬂufMumnmnthlannﬂﬁphchokotvpeﬂenx
is known as - )
138. Which of the following statement is not
related to assessment as learning ? (A) Stem
(B)  Distracter
(A) Encourages students to take
responsibility for their own learning (C) Response
(B) Used to assess the learning weakness (D) Question
of the students
(©) Encourages peer assessment 142. Whichis the period for acquiring experiences
of Social subordination to authority figures
(D) None of the above outside the family ?
(A) Infancy
. (B) Early childhood
139. Which of the following is not true in the nildhood
context of teaching learning materials ? (C) Later chilchoo
. (D) Adolescences
(A) A blackboard can be used for putting
the cut outs of newspapers and
magazines. o .,
143. Who is author of “Animal Learning
(B)  Teaching can be effective through the published in Ll
use of audio-visual aids. A) L. Thurstone
(C) Audio-visual aids help comprehend B) J.P. Guilford
difficult or monotonous content,
(C) P.E Vernon
(D) Text books are one of the main TLLM Thorndike
used in classrooms. (D) E_L___________
urn over)
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[ resource management means .

A 148. Huma
144, 2'11:3 13t'elli$e.n‘cc that is occupied with objects i method whiCh- an Organisatign

é ungs 1s collects, maintains and Tepory

(A)  Abstract intelligence information on people and jobs.

(B)  Concrete intelligence (B) The process of i“teg_rat.ing the

o ‘ employee’s needs and aspirations With

(C)  Social intelligence Organisational needs.

(D) None of these (C) The process of bringing people anq
organisation together so that the goq]
of each are achieved.

145. TLM should be selected according to : . _
(D) The efforts to make life worth living

(A)  their availability in respective areas for workers.

(B) the objectives of teaching

(C)  their cost 149. Which of the following is not a way of

. Sy
(D) none of the above measuring retention ¢
(A) Method of recall
146. The evaluation in which variety of (B) Method of construction

techniques are used to measure scholastic .

and non scholastic areas of the pupils is (EJieictmdiotus]caming

known as : (D) Method of recognition

(A) Continuous evaluation

(B) Placement evaluation 150. According to Johnson & Soloman

(C) Comprehensive evaluation stammering is mainly due to

(D) Diagnostic evaluation (A) %ea.mi.ng faulty ways of speech by
Imitation of other
. B) h i
147. Which of the following statements is not an (B) . heredity
e » . .
advantage of rubrics ? (C) emotional tension as observed in
(A) Potential to be transferred into grades EXGessive fear
(B) Provides the child more control of their (D) Lack. of balance among the tw0
own learning process emispheres of the brain
(C) It restricts the students mind power
(D) Narrows the gap between instruction
and assessment "
L - ~ ——/
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